What is Binarg’?

Binar3 is how computers talk and share information.

All of the words, Pictures and numbers that you see on the [nternet is made up using Biﬂarﬂ.

Binarg is made up of onlg two cligits ~0s and 1s, which are P]acecl in different orders to represent all letters

ané numbers.

E_g. Mr T llam in Binarg code would be:
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Ona computer it would look like this — con{:using ch?

All of these 0s and 15 are making my head hurt, but
there is a simpler way of using Binarﬂ to write coded

mcssagcsl
You will need three colours of pen.

One colour will represent the 0s, another will
rePresent the isand the third colour will rePresent

SPaCCS‘

] will use red for Os, green for 1s and

For spaces bctwccn thc ]ettcrs.

So JOY would look like this, using colours to represent the 0s and 1s.

Wl’ag not try writing your initials, using three different colours to represent the Binarg code and spaces?

You could even use beads and string to create a bracelet written in Binargl




Alphabet in Binary (CAPITAL letters)

:

Binary

01000001

01000010

01000011

01000100

01000101

01000110

01000111

01001000

01001001

01001010

01001011

01001100

01001101

01001110

01001111

01010000

01010001

01010010

01010011

01010100

01010101

01010110

01010111

01011000

01011001
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